Soustraction (E)

Calculez la différence.

902 438 8483 31 1624 7492 257 737 725 25

-9 - 9% -_60 —_ 26 — 3 — 27 — 1 — 84 — 8 —_ 6
730 5307 9126 721 3376 9288 8737 7481 8269 705

— 2 =403 -3 -3 —-997 —_ 1 —_ 38 —_10 —2995 —_ 5
4503 228 4300 797 82 5105 6709 6182 410 7951
-9 -7 —109 — 37 — 9 —_ &8 -=5971 —_113 —_ 32 —6472
7537 82 36 7496 331 o0 43 26 9816 450
-7 -9 -1 - 6 — 34 -1 -5 —_ 7 — 261 —__ 6
5247 752 456 627 838 786 4398 641 475 957
-3 - 11 -7 =28 - 22 - 9 - 2 — 9 —_ 22 —_120
9 619 87 89 103 3888 6893 2349 861 8

- 6 — 5 —_ &8 —_ 43 —_63 —-1209 —_ 97 — 281 —_ 73 —_ 6
48 9625 54 89 7900 1727 bl 432 542 982
-5 -5 — 1 -7 - 33 -2 —_ 7 =312 — 73 —_ 2
5542 77 6562 5019 8535 6 1277 6685 60 1764
- 7 — 10 -4 —-269 - 18§ — 3 —727 — 110 — 2 —_ 1
451 8321 96 6282 8026 3 7008 6223 14 969
- 6 - 69 — 61 -8 —96 -1 — 6 —_ 3 — 2 —_359

6949 3700 8771 665 61 1409 96 9708 354 864
- 952 —-532 — 32 —613 — 4 — 772 —_ 93 —-2259 — 15 — 7
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